MAT2580 Mark Lall

1594 N723

HOMEWORK ASSAIGNMENT #1
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In Bwereises 1 and 2, compuis w 4 vand m — 2w
17 r_a 17 [ 3
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Iz Prereizes 3 and 4, display the followmms vectos nsme armoses
0D 2@ Xy-praph w, v, —v, —Iv.0 4 ¥, B— v, and m — v, Nodce
that m — wis e vemes of 2 parallelopram whose other verbees are
w D and -v
3. wand v m Beervize 1 4 wand vasin Bresrase
U= [1]; V= [-3]
2 -1
> U=(-12)
> V=(-3-1)
» -V=-[-3]=[3]
-1 01
> -2V =-2[-3] = [6]
-1 2

> UV = [0+ [3] = [ (D)+(-3)= 4] = [4]
2 1 @+1=1 1

» U-V=[1]-[-3] = [(-1)-(-3)=2] =[2]
2 -1 (-(1=3 3

» U-2V =[-1]-(2)[-3] = [-1] - [(-2)(-3)= 6] = [-1] — [6] = [5]
2 1 2 (D=2 2 2 0

U-V=(2,3)

-2V=(6,2)
V= (_3:1) U= ('1;2) /

N
UsV= (-4,1) V=6 U-2=(5,0)
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> 2A=[(-2)(2) = -4:(0)(-2)=0;(-2)(-1)=2] =====[-4 0 2]
(-2)(4) = -8(-2)(-5)=10;(-2)(2)=-4 -810 -4
» B-2A=[7-5 1]-[4 0 2]=[3-5 3]****NOTE -2A came from above
1-4-3 -810 -4 -7 6 -7
» AC = Size difference A=(2*3); C=(2*2) = UNDEFINED
» CD=[12]*[3 5]=[(M)B)*+()(-1) =1; (1)(5)+(2)(4)=13
21 14 (QE)+D(ED=-7; (9B)+1)(4)=-6

CD=[1 13]
7 -6



